Design for GeForce RTX 3080 Founders Edition
o4

Bitspower’

p N\ (1) BPPRE-VG3080FEID 14
7515 @ 7 @ L1136 B HIDRGBIHH - "
Digital RGB PIN on @ motherboard or @other equipment. @ AR 1A
7 @ £ AR @ 15 & ODRGBIGE - (3@ M2.5x10 B4 8%
o (2] = BPTA-DRGBMFC | ~ ) o @ M2.5x6 8# 2%
] '\“\\\\\\\\\\\\\\\\\\ 4 G iR 1K
\. \\ ;\\\_m\l\‘“ \
\i T~ 9 ® M3x10 & 3%
'@% . ~0 @ =3 3A
IF&h oo DRgB%@%U‘%%(K@%) c | ded
| DRCERCRER ) Accessories
(1) BPPRE-VG3080FEID 1 Set
@ Back plate 1 PCS
@ M2.5 x 10 screw 8 PCS
(@) M2.5x6screw 2PCS
(® 1/0shield 1PCS
(6 M3x10 screw 3PCS
(@) Washer 3 PCS
(1) BPPRE-VG3080FEID 14
(@ iR 1A
(3 M2.5x10 18 8%
(@) M2.5x6 B 2%
(B iR 1R
BISBEIFTENMEBKIBRAS - ILL8  BREKIBFLE - @ M3 x 10 m?ﬁ 3 i
eolation Qe 1 netal he warerock, back pdte withyour graphis crd @ %3 3k

BWLKIRTEREBRRRAS Lk  BRERIEGL -

Bitspower reserves the right to change the product design and interpretations. These are subject to change without notice. Product colors and accessories are based on the actual product.

ARTREBHERMR T BRURBRENRD) - WAREBABITEN - EREBCHREGUEYRE -
& ARTYREN = mANR U BRURBRENRT - WAENSABITEMN - =R eSEFUSEYE -



Bitspower®

L s

O 1.0mm o
O o
i _
O/
O | O O
o | 1.0mm O \ / o o

1.0mm

GeForce RTX 3080 Founders Edition

Applying the thermal pad and thermal paste on correct positions.

EZ] Using appropriate amount of thermal paste.
[ 1.0 mm Thermal pad

[] 2.5 mm Thermal pad

Before filling in the water, please make sure all the components are installed correctly.
To prevent any leakage which may damage the PC components, please perform a
24-hour leaking test with only the pump connected to the power supply .

ER - BKAT - AERRASHCREAERNMUEL - £RMEH - HKRNERT
ET4/EARKAIE - BRERRKEREERIN  BeRERKMENBESHISR -

- BKET - BEMAASHCZRELEBNUE L - £RFFEN - BFKRIOBERT -
HT24/N KN - BIRTRKIEREEFEN - BERERKTNSRBHSHAIRE




Bitspower’

EE : BitspowerZ@Z HEE ERAZEK - AFK - MABitspowerfIREER KL RER ; MEFBITEBNKLIRENERERE - KEEE KRB
ZSSﬁ*Eﬁ‘Kﬁ%ﬁ%ﬁ%ﬂEﬁﬂﬁﬁﬁ%%&ﬁ?*ﬂﬁﬁZﬁﬁﬁ'%E%Eﬁﬂ%ﬁﬁ%ﬁﬁ&°
REKE - FAMEBKRER -

Notice:Bitspower recommends that consumers add the Bitspower dye to distilled water or purified water for their water-cooling liquid. If the
consumer chooses different water-cooling liquids, the resulting impurities may cause peeling of the coating on some of the hardware,
water channels blockage by built-up residue, improper operation of the water pump, water tank tube breakage, and o-rings deformation
leading to leakage. Any issues related to the use of inappropriate water-cooling liquid will be the responsibility of the consumer.

Do not turn on the pump if the reservoir is empty.
% : Bitspower BUUGHRERERAEK - AiEK - MABitspowerfIRFEAKSRER ; MEFBITREMNKIRSHBERHE - KEEE - KRE
ZSSﬂ*Eﬁ~Kﬁ%ﬂ%ﬁ%ﬁEQ@M&E%%&EE*EHHZ@@N-ﬁﬁ%ﬁﬁﬂﬁﬁ%?ﬁﬁ&°

AEKE - BIBHKRER -

AR MKA - BEERMASHCEREEENUEL - EAREH - BRKRNBERT - ET240SHNIKNE - BRERKENEEHIN  BRRERKMENEMIMIEER -

Before fill in water,please make sure all the component be installed correctly,avoidingleaking happen and destroy the PC component.

AR BKAT - BEWATASHCZREERIUE L - EAFEN - £FKROBERT - #7240 NHKIE - BRERKEREEHEIN - B RKERKNSREMBEIRL -

AREREBHERVRAELURBENES - MAEHVAB TR - EREEARGUBYRE - VZ/% —_ H&
Bitspower reserves the right to change the product design and interpretations. These are subject to change without notice. Product colors and accessories are based on the actual product. -
KATYRENFRmIRITEURERENNTS) - MEEHBASTEN - FRAeSkAUTIE -



